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(H9) 1Q24P 1023 YoY (%) 4Q23 QoQ (%) Meritz Xt0] (%) M A #t0] (%)

Bl 6,680.4 6,443.7 37 6,698.3 -0.3 6,680.4 0.0 6,571.9 1.7

Sl 501.4 486.1 3.1 265.6 88.8 501.4 0.0 506.7 -1.0
MEole 557.2 437.6 27.3 -12.0 -4,724.2 557.2 0.0 506.8 9.9

gr1=01Y 400.4 309.6 29.3 -41.8 -1,057.7 400.4 0.0 384.5 4.1
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(A9) 1Q23 2Q23 3023 4Q23 1Q24P 2Q24E 3Q24E 4Q24E 2023 2024E
Bl 6,443.7 6,547.5 6,697.5 6,698.3 6,680.4 6,704.1 6,787.7 6,897.1 26,387.0 27,069.3
Il 486.1 576.1 322.0 265.6 501.4 555.4 418.1 305.3 1,649.7 1,780.1
MEol 4376 548.1 350.4 -12.0 557.2 615.2 476.2 366.7 1,324.0 2,015.2
gr1z01Y 309.6 4325 288.3 -41.8 400.4 4414 342.1 263.3 988.7 1,447.2
A0S (%) 7.5 8.8 48 40 7.5 8.3 6.2 4.4 6.3 6.6
27|20/ E (%) 48 6.6 43 -0.6 6.0 6.6 5.0 38 37 53
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A M. OjEH 672 A(+3.3% YoY), S0|2) 50652 2(+4.2% YoY), T7|=0]|2 3.930%&(+26.9 YoY)
He M OfEY 47 2(+1.6% YoY), F 0| 3,938 81(+1.5% YoY), 7|20|2 3,540 (+10.7% YoY)

39 U RAYH|S 129.8%(-2.6%p QoQ), = EAHH| S 38.5%(-1.0%p QoQ)
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Ua0z 7ot QU TYEOl, HEE ALY YT L2 2,5449 21(-0.2% YoY) 7| &
ZHX XR|AHE KTARCIQX| L X HZ SY f2 540 YA 20| M2 LA0|C|0] 0fE Z4 T2 Z 1,3862#(-2.8% YoY)
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